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‘MOBILE’ v. ‘IMMOBILE 
ENVIRONMENT 

 
Let us take two examples of societies in today’s world: 

Communist and Capitalist. 

Communism  was thought up  by a  few  people and 

imposed upon millions within a couple of years. The 

philosophy of communism implies that all men are equal 

which is very much against the  laws of nature. The 

supply of life’s necessities is controlled from a central 

body rather than allowing  the  natural  forces  of 

demand  and  supply  to  operate.  This  is  the  worst 

feature of such a society because at a stroke it takes 

away  from  every  individual the   ‘opportunity   to 

profit’. In  other  words,  it  disallows  man  his  basic 

instinct to make rational choices in  order to improve 

himself. It thus shuts down man’s dominant motivating 

force.   It takes  away his hopes and dreams and 

confines him to a life of drudgery. 
 

In a  communist  society,  man  can  still  exercise  his 

‘simple choice’ (that is, the desire to go up) but he 

cannot achieve it because he is not allowed to use 

(rational choice) the means to get there. 
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